
PARTS 
CATALOG 

imageRUNNER 
ADVANCE DX 
C5870i / C5860i 
C5850i / C5840i 

Canon
November 2, 2021 
Rev. 1

COPYRIGHT © 2021 CANON INC. CANON imageRUNNER ADVANCE DX C5800 Series Rev. 1 PRINTED IN U.S.A. 



2021-11-02

Index

PRE PREFACE

SNL Product Code No./Serial No.

A1C ASSEMBLY LOCATION DIAGRAM

A2 OPTION PARTS CATALOG LIST

001B ACCESSORIES

100B EXTERNAL COVERS, PANELS, ETC. (230V)

100C EXTERNAL COVERS, PANELS, ETC. (120V)

101 INTERNAL COMPONENTS 1

102C INTERNAL COMPONENTS 2 (C5870, C5860, C5850 SERIES)

102D INTERNAL COMPONENTS 2 (C5840 SERIES)

103 INTERNAL COMPONENTS 3

104 INTERNAL COMPONENTS 4

105 INTERNAL COMPONENTS 5

106 INTERNAL COMPONENTS 6

107A MACHINE REAR PLATE 1 (C5870, C5860, C5850 SERIES)

107B MACHINE REAR PLATE 1 (C5840 SERIES)

108 MACHINE REAR PLATE 2

111 RIGHT DOOR ASSEMBLY 1

112 RIGHT DOOR PAPER FEED ASSEMBLY

113 RIGHT DOOR ASSEMBLY 2

114 RIGHT DOOR ASSEMBLY, LOWER

130 CONTROL PANEL ASSEMBLY

140B POWER CORD TERMINAL ASSEMBLY (120V US, CA, LTN)

140C POWER CORD TERMINAL ASSEMBLY (230V LTN, EUR, AU, SG, KR)

191 FRONT FAN ASSEMBLY

192 REAR FAN ASSEMBLY

193 FAN ASSEMBLY (C5870, C5860, C5850 SERIES)

194A SIDE END COOLING FAN ASS'Y (C5870, C5860, C5850 SERIES)

194B SIDE END COOLING FAN ASS'Y (C5840 SERIES)

250 MAIN DRIVE ASSEMBLY

261A PAPER PICK-UP DRIVE ASSEMBLY (C5870 SERIES)

261B PAPER PICK-UP DRIVE ASSEMBLY (C5840 SERIES)

261C PAPER PICK-UP DRIVE ASSEMBLY (C5860, C5850 SERIES)

262A REG. DUPLEXING DRIVE ASSEMBLY (C5870 SERIES)

262B REG. DUPLEXING DRIVE ASSEMBLY (C5840 SERIES)

262C REG. DUPLEXING DRIVE ASSEMBLY (C5860, C5850 SERIES)

270A BOTTLE DRIVE ASSEMBLY (C5870, C5860, C5850 SERIES)

270B BOTTLE DRIVE ASSEMBLY (C5840 SERIES)

280 FIXING DRIVE ASSEMBLY 

290 LIFTER DRIVE ASS'Y

imageRUNNER ADVANCE DX C5800 Series(CUSA)



2021-11-02

Index

310A PAPER PICK-UP ASSEMBLY, 1 (C5870, C5860, C5850 SERIES)

310B PAPER PICK-UP ASSEMBLY, 1 (C5840 SERIES)

311A PAPER PICK-UP ASSEMBLY, 2 (C5870, C5860, C5850 SERIES)

311B PAPER PICK-UP ASSEMBLY, 2 (C5840 SERIES)

313 VERTICAL PATH LOWER GUIDE ASS'Y

315 MULTI PAPER PICK-UP TRAY ASS'Y

316 MULTI PAPER PICK-UP ASSEMBLY

320 SECONDARY TRANSFER ASS'Y 

321A REGISTRATION ASSEMBLY (C5870, C5860, C5850 SERIES)

321B REGISTRATION ASSEMBLY (C5840 SERIES)

332 DUPLEXING GUIDE ASSEMBLY

350 PAPER DELIVERY ASSEMBLY

351 FIRST PAPER DELIVERY ASSEMBLY

352 SECOND PAPER DELIVERY ASSEMBLY

460A LASER SCANNER ASSEMBLY (C5870 SERIES)

460B LASER SCANNER ASSEMBLY (C5840 SERIES)

460C LASER SCANNER ASSEMBLY (C5860, C5850 SERIES)

530 INTER. TRANSFER BELT ASSEMBLY

627 BOTTLE BASE ASSEMBLY, BLACK

628 BOTTLE BASE ASSEMBLY, COLOR

640 DEVELOPING ASSEMBLY

650B TRAY DRUM ASSEMBLY

770 CONTAINER, WASTE TONER, WT-202

771 WASTE TONER DRIVE ASS'Y, FRONT

772 WASTE TONER DRIVE ASS'Y, REAR

773 WASTE TONER FEED ASSEMBLY

774 INTERDEDIATE FEED DRIVE ASS'Y

775 INTERDEDIATE FEED ASS'Y

810C FIXING ASSEMBLY, FX-207 (120V C5870, C5860, C5850 SERIES)

810D FIXING ASSEMBLY, FX-205 (120V C5840 SERIES)

810E FIXING ASSEMBLY, FX-207 (230V C5870,60,50 SERIES)

810F FIXING ASSEMBLY, FX-205 (C5840 SERIES)

900 CONTROLLER BOX ASSEMBLY

910C POWER SUPPLY ASSEMBLY (120V C5870, C5860, C5850 SERIES)

910D POWER SUPPLY ASSEMBLY (120V C5840 SERIES)

910E POWER SUPPLY ASSEMBLY (230V)

930B MAIN CONTROLLER PCB ASSEMBLY

962 PAPER FEED DRIVER PCB ASSEMBLY

980 H.V. POWER SUPPLY/ DUCT ASS'Y

981 TRANSFER H.V. PCB ASSEMBLY

imageRUNNER ADVANCE DX C5800 Series(CUSA)



2021-11-02

Index

B02 ADF MAINTENANCE KIT

B11B INTERNAL COMPONENTS 1

B12B INTERNAL COMPONENTS 2

B13 INTERNAL COMPONENTS 3

B14 INTERNAL COMPONENTS 4 

B15 DOCUMENT TRAY ASSEMBLY

B16 OPEN/CLOSE COVER ASSEMBLY

B17 BASE FRAME ASSEMBLY

B40 PLATEN GUIDE ASS'Y 

B90 DF DRIVER PCB ASSEMBLY

D11B READER ASSEMBLY

H30B CASSETTE ASSEMBLY (SMALL)

H31B CASSETTE ASSEMBLY (LARGE)

ZZA MECHANICAL STANDARD PARTS (HOW TO USE)

ZZB MECHANICAL STANDARD PARTS (SCREWS)

ZZC MECHANICAL STANDARD PARTS (BOLTS)

ZZD MECHANICAL STANDARD PARTS (NUTS)

ZZE MECHANICAL STANDARD PARTS (RETAINING RINGS)

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure PRE (1/5)PREFACE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure PRE (2/5)PREFACE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure PRE (3/5)PREFACE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure PRE (4/5)PREFACE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure PRE (5/5)PREFACE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure SNL (1/2)Product Code No./Serial No.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure SNL (2/2)Product Code No./Serial No.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

SNL NPN RF Product Code No./Serial No. 

1 F17-1431-000 1 imageRUNNER ADVANCE DX C5870i
2XD
120V US, CA, LTN

2 F81-7031-000 1 imageRUNNER ADVANCE DX C5870i
37N
120V US, CA, LTN

3 F81-8431-000 1 imageRUNNER ADVANCE DX C5870i
3LA
120V US, CA, LTN

4 F17-1433-000 1 imageRUNNER ADVANCE DX C5870i

2XE
120V US
GOVERNMENT 
model

5 F17-4731-000 1 imageRUNNER ADVANCE DX C5860i
2XK
120V US, CA, LTN

6 F81-7131-000 1 imageRUNNER ADVANCE DX C5860i
37S
120V US, CA, LTN

7 F81-8531-000 1 imageRUNNER ADVANCE DX C5860i
3KT
120V US, CA, LTN

8 F17-4733-000 1 imageRUNNER ADVANCE DX C5860i

2XL
120V US
GOVERNMENT 
model

9 F17-4631-000 1 imageRUNNER ADVANCE DX C5850i
2XW
120V US, CA, LTN

10 F81-7231-000 1 imageRUNNER ADVANCE DX C5850i
38C
120V US, CA, LTN

11 F81-8731-000 1 imageRUNNER ADVANCE DX C5850i
3LJ
120V US, CA, LTN

12 F17-4633-000 1 imageRUNNER ADVANCE DX C5850i

2XX
120V US
GOVERNMENT 
model

13 F17-1331-000 1 imageRUNNER ADVANCE DX C5840i
2YJ
120V US, CA, LTN

14 F81-7331-000 1 imageRUNNER ADVANCE DX C5840i
38M
120V US, CA, LTN

15 F81-8831-000 1 imageRUNNER ADVANCE DX C5840i
3KG
120V US, CA, LTN

16 F17-1333-000 1 imageRUNNER ADVANCE DX C5840i

2YK
120V US
GOVERNMENT 
model

17 F17-1481-000 1 imageRUNNER ADVANCE DX C5870i
2ZG
230V LTN

18 F81-7081-000 1 imageRUNNER ADVANCE DX C5870i
38V
230V LTN

19 F81-8481-000 1 imageRUNNER ADVANCE DX C5870i
3JF
230V LTN

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

20 F17-4781-000 1 imageRUNNER ADVANCE DX C5860i
2XM
230V LTN

21 F81-7181-000 1 imageRUNNER ADVANCE DX C5860i
37T
230V LTN

22 F81-8581-000 1 imageRUNNER ADVANCE DX C5860i
3KU
230V LTN

23 F17-4681-000 1 imageRUNNER ADVANCE DX C5850i
2XY
230V LTN

24 F81-7281-000 1 imageRUNNER ADVANCE DX C5850i
38D
230V LTN

25 F81-8781-000 1 imageRUNNER ADVANCE DX C5850i
3LK
230V LTN

26 F17-1381-000 1 imageRUNNER ADVANCE DX C5840i
2YL
230V LTN

27 F81-7381-000 1 imageRUNNER ADVANCE DX C5840i
38N
230V LTN

28 F81-8881-000 1 imageRUNNER ADVANCE DX C5840i
3KH
230V LTN

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A1C (1/6)ASSEMBLY LOCATION DIAGRAM

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A1C (2/6)ASSEMBLY LOCATION DIAGRAM

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A1C (3/6)ASSEMBLY LOCATION DIAGRAM

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A1C (4/6)ASSEMBLY LOCATION DIAGRAM

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A1C (5/6)ASSEMBLY LOCATION DIAGRAM

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A1C (6/6)ASSEMBLY LOCATION DIAGRAM

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure A2 OPTION PARTS CATALOG LIST

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 001B ACCESSORIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

001B NPN RF ACCESSORIES

1 FE4-2809-000 1 HOLDER, SERVICE BOOK

2 FE2-D452-000 1 CLOTH, CLEANING

3 FL0-4625-000 1 ENVELOPE VERTICAL FEED ASS'Y

4 FL0-2305-000 1 ENVELOPE HORIZONTAL FEED ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 100B (1/2)EXTERNAL COVERS, PANELS, ETC. (230V)
NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as 

Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 100B (2/2)EXTERNAL COVERS, PANELS, ETC. (230V)
NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as 

Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

100B NPN RF EXTERNAL COVERS, PANELS, ETC. 230V

1 FE3-9169-000 4 CAP

2 FE8-6963-000 1 COVER, RIGHT FRONT, UP. INNER

3 FE8-6968-000 1 COVER, CONNECTOR, RIGHT, LOWER

4 FL1-3948-000 1 COVER, FRONT LEFT, LOWER

5 FL1-4391-000 1 LABEL, SERVICE

6 FL1-5325-000 1 COVER, RIGHT LOWER, FRONT

7 FL1-5326-000 1 COVER, RIGHT LOWER, REAR

8 FM1-R797-000 1 DOOR STOPPER UNIT, FRONT

9 FE8-4725-000 1 COVER, THIRD PAPER DELIVERY

10 FE2-D770-000 1 LINK, MULTI PAPER PICK-UP, FR.

11 FE8-7347-000 1 LINK, MULTI PAPER PICK-UP, RR.

12 FM1-U186-000 1 RIGHT FRONT UP. COVER ASSEMBLY

13 FE2-D596-000 1 LEVER, DOOR TOGGLE

14 FE8-6982-000 1 COVER, MAIN SWITCH

15 FM1-T142-000 1 FRONT COVER ASSEMBLY C5840 SERIES

15 FM1-U554-000 1 FRONT COVER ASSEMBLY
C5870, C5860, C5850 
SERIES

16 FM1-U651-000 1 GLASS CLEANING ROD ASSEMBLY

17 FE8-4710-000 2 COVER, HANDLE

18 FE2-D595-000 1 COVER, RIGHT, LOWER

19 XA9-0893-000 15 SCREW, M4X8

20 FL1-6298-000 1 PAD, GLASS CLEANING [DP]

21 FM1-U137-000 1 EXTENSION GUIDE ASS'Y

22 FE2-D965-000 1 LABEL, TONER
SEE NOTE 1
SEE NOTE 2

23 FE8-7383-000 1 LABEL, FEED SIZE SEE NOTE 3

24 FE3-9167-000 1 GUIDE, REVERSE BACK END

25 FM1-U134-000 1 1ST PAPER DELIVERY TRAY ASS'Y

26 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

27 FE2-A295-000 1 BAND, COVER, FRONT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 100C (1/2)EXTERNAL COVERS, PANELS, ETC. (120V)
NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as 

Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 100C (2/2)EXTERNAL COVERS, PANELS, ETC. (120V)
NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as 

Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

100C NPN RF EXTERNAL COVERS, PANELS, ETC. 120V

1 FE3-9169-000 4 CAP

2 FE8-6963-000 1 COVER, RIGHT FRONT, UP. INNER

3 FE8-6968-000 1 COVER, CONNECTOR, RIGHT, LOWER

4 FL1-3948-000 1 COVER, FRONT LEFT, LOWER

5 FL1-4391-000 1 LABEL, SERVICE

6 FL1-5325-000 1 COVER, RIGHT LOWER, FRONT

7 FL1-5326-000 1 COVER, RIGHT LOWER, REAR

8 FM1-R797-000 1 DOOR STOPPER UNIT, FRONT

9 FE8-4725-000 1 COVER, THIRD PAPER DELIVERY

10 FE2-D770-000 1 LINK, MULTI PAPER PICK-UP, FR.

11 FE8-7347-000 1 LINK, MULTI PAPER PICK-UP, RR.

12 FM1-U186-000 1 RIGHT FRONT UP. COVER ASSEMBLY

13 FE2-D596-000 1 LEVER, DOOR TOGGLE

14 FE8-6982-000 1 COVER, MAIN SWITCH

15 FM1-T142-000 1 FRONT COVER ASSEMBLY C5840 SERIES

15 FM1-U554-000 1 FRONT COVER ASSEMBLY
C5870, C5860, C5850 
SERIES

16 FM1-U651-000 1 GLASS CLEANING ROD ASSEMBLY

17 FE8-4710-000 2 COVER, HANDLE

18 FE2-D595-000 1 COVER, RIGHT, LOWER

19 XA9-0893-000 15 SCREW, M4X8

20 FL1-6298-000 1 PAD, GLASS CLEANING [DP]

21 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

22 FE2-D965-000 1 LABEL, TONER
SEE NOTE 1
SEE NOTE 2

23 FE8-7383-000 1 LABEL, FEED SIZE SEE NOTE 3

24 FE2-A295-000 1 BAND, COVER, FRONT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 101 INTERNAL COMPONENTS 1

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

101 NPN RF INTERNAL COMPONENTS 1

1 FM1-T166-000 1 MAIN SWITCH UNIT SW16, J2424

2 WC2-5806-000 1 SWITCH, PUSH SW9, J2240

3 FK2-7291-000 1 FAN FM9, J2201

4 FK4-4956-000 1 FAN FM10, J2200

5 FE8-7972-000 1 HINGE, LOWER, FRONT

6 FU2-2599-000 1 SCREW, STEPPED, M4

7 FM1-U057-000 1 FIXING DRAWER ASSEMBLY J2230, J5006, J5012

8 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 102C INTERNAL COMPONENTS 2 (C5870, C5860, C5850 SERIES)
NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 10. NOTE 2 : The part shown with key No. 10 is same as 

Fig-Key No. 100-22 and 650-5.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

102C NPN RF INTERNAL COMPONENTS 2
C5870, C5860, C5850 
SERIES

1 FE2-D596-000 1 LEVER, DOOR TOGGLE

2 FU2-2390-000 8 SCREW, STEPPED, M4

3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

4 FU2-2321-000 1 SPRING, TORSION, GROUNDING

5 FM1-T043-000 1 DRUM HEATER UNIT
H2
100V, 120V

5 FM1-W375-000 1 DRUM HEATER UNIT
H4
230V

6 FU2-0957-000 1 SPRING, TENSION

7 WC2-5806-000 1 SWITCH, PUSH SW8, J2203

8 FM1-V558-000 4 BOTTLE DOOR DRIVE UNIT

9 FU5-9353-000 4 SCREW, STEPPED, M3

10 FE8-8675-000 1 LABEL, TONER
SEE NOTE 1
SEE NOTE 2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 102D INTERNAL COMPONENTS 2 (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

102D NPN RF INTERNAL COMPONENTS 2 C5840 SERIES

1 FE2-D596-000 1 LEVER, DOOR TOGGLE

2 FU2-2390-000 8 SCREW, STEPPED, M4

3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

4 FU2-2321-000 1 SPRING, TORSION, GROUNDING

5 FM1-T043-000 1 DRUM HEATER UNIT
H2
100V, 120V

5 FM1-W375-000 1 DRUM HEATER UNIT
H4
230V

6 FU2-0957-000 1 SPRING, TENSION

7 WC2-5806-000 1 SWITCH, PUSH SW8, J2203

8 FU5-9353-000 4 SCREW, STEPPED, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 103 INTERNAL COMPONENTS 3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

103 NPN RF INTERNAL COMPONENTS 3

1 FM1-B198-010 3 CASSETTE SIZE SENSING ASS'Y
SW5, SW6, SW7, 
J2111, J2113, J2115

2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

3 FE2-A295-000 1 BAND, COVER, FRONT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 104 INTERNAL COMPONENTS 4

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

104 NPN RF INTERNAL COMPONENTS 4

1 FE4-8808-000 1 ROLLER, RAIL

2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 105 INTERNAL COMPONENTS 5

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

105 NPN RF INTERNAL COMPONENTS 5

1 FM1-R396-000 1 I.T.B. RAIL ASSEMBLY, FRONT

2 FM1-R397-000 1 I.T.B. RAIL ASSEMBLY, REAR

3 FM1-R398-000 1 REGISTRATION SENSOR UNIT SL1, UN18

4 FM1-U138-000 1 EXHAUST GUIDE UNIT

5 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 106 INTERNAL COMPONENTS 6

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

106 NPN RF INTERNAL COMPONENTS 6

1 FE2-F749-000 2 SCREW, STEPPED, M5X6

2 FE2-F750-000 4 SCREW, FIXED, M4

3 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 107A MACHINE REAR PLATE 1 (C5870, C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

107A NPN RF MACHINE REAR PLATE 1
C5870, C5860, C5850 
SERIES

1 FM1-B670-000 2 CASSETTE AUTO CLOSE ASSEMBLY

2 FM1-T174-000 1 AC CABLE UNIT SW2

3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

4 XA9-2007-000 2 SCREW,B,M4,L8

5 FK4-6850-000 1 FAN FM11, J2293

6 FM1-V105-000 1 F.F.C. CABLE UNIT

7 FK4-4466-000 1 CABLE, FLAT J75, J700

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 107B MACHINE REAR PLATE 1 (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

107B NPN RF MACHINE REAR PLATE 1 C5840 SERIES

1 FM1-B670-000 2 CASSETTE AUTO CLOSE ASSEMBLY

2 FM1-T174-000 1 AC CABLE UNIT SW2

3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

4 XA9-2007-000 2 SCREW,B,M4,L8

5 FK4-4466-000 1 CABLE, FLAT J75, J700

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 108 MACHINE REAR PLATE 2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

108 NPN RF MACHINE REAR PLATE 2

1 FM1-T157-000 1 1ST TRANSFER GUIDE UNIT

2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 111 RIGHT DOOR ASSEMBLY 1

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

111 NPN RF RIGHT DOOR ASSEMBLY 1

1 FM2-C415-000 1 REGISTRATION ROLLER UNIT

2 FB6-6088-000 1 RING, RETAINING

3 FE2-D250-000 1 STOPPER, 2ND TR. GUIDE, FR.

4 FE8-7938-000 2 PIN, RETAINER

5 FE8-7996-000 1 STOPPER, 2ND TR. GUIDE, RR.

6 FL1-7373-000 1 BUSHING, REAR

7 FU2-2426-000 1 GEAR, 17T

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 112 RIGHT DOOR PAPER FEED ASSEMBLY
NOTE : This assembly includes the assemblies shown in Figure 113, 313 and 332.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

112 FM1-T011-000 1 RIGHT DOOR PAPER FEED ASSEMBLY SEE NOTE

1 WG8-5935-000 3 PHOTOINTERRUPTER, RPI-2500
PS16, PS17, PS18, 
J2261, J2281, J2813

2 FM1-T089-000 1 PRE-REGISTRATION GUIDE ASS'Y

3 FM1-T134-000 1 REVERSE DUPLEXING ASS'Y

4 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 113 RIGHT DOOR ASSEMBLY 2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

113 NPN RF RIGHT DOOR ASSEMBLY 2

1 FE2-E059-000 1 LATCH, FRONT

2 FE8-7981-000 1 HANDLE, DOOR, RIGHT

3 FE8-7983-000 1 LATCH, REAR

4 FE8-7987-000 1 RAIL, STOPPER, FRONT

5 XA9-2050-000 6 SCREW, SELF-TAPPING, M3

6 XD9-0335-000 1 PIN, PARALLEL

7 XG9-0795-000 1 BEARING, BALL, L-1060ZZHPOP25L

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 114 RIGHT DOOR ASSEMBLY, LOWER

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

114 FM1-R483-010 1 RIGHT DOOR ASSEMBLY, LOWER

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 130 CONTROL PANEL ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

130 FM1-X013-010 1 CONTROL PANEL ASSEMBLY

1 FE3-9169-000 4 CAP

2 FE8-7637-000 1 KEY TOP, SWITCH

3 FK4-6206-000 1 CABLE, CONTROL PANEL SIGNAL J4, J901

4 FK4-2377-000 1 SPEAKER

5 FK4-4895-000 1 CABLE, FLAT CN1, J915

6 FK4-6830-000 1 LCD UNIT

7 FM2-A912-000 1 CONTROL PANEL LED PCB ASSEMBLY UN50

8 FM3-C906-000 1 CONTROL PANEL MAIN PCB ASS'Y UN39

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 140B POWER CORD TERMINAL ASSEMBLY (120V US, CA, LTN)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

140B NPN RF POWER CORD TERMINAL ASSEMBLY 120V US, CA, LTN

1 FM1-T168-000 1 POWER CORD TERMINAL ASSEMBLY
P1, J21, J22, J81, 
J301, J313, J6010

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 140C POWER CORD TERMINAL ASSEMBLY (230V LTN, EUR, AU, SG, 
KR)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

140C NPN RF POWER CORD TERMINAL ASSEMBLY
230V LTN, EUR, AU, 
SG, KR

1 FM1-V101-000 1 POWER CORD TERMINAL ASSEMBLY
INL1, J21, J22, J81, 
J301, J313, J601

2 FK4-1390-000 1 CORD, POWER
P1
230V LTN, EUR, KR

3 FK4-5631-000 1 CORD, POWER, 230V
P1
230V AU, SG

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 191 FRONT FAN ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

191 NPN RF FRONT FAN ASSEMBLY

1 FE2-B634-000 1 LEVER, LOCK

2 FE3-0817-000 1 ARM, INTERLOCK, 1

3 FE3-0849-000 1 ARM, INTERLOCK, 2

4 FK4-3647-000 1 FAN
FM4, J2202
C5840 SERIES

4 FK4-5743-000 1 FAN
FM4, J2202
C5870, C5860, C5850 
SERIES

5 FM2-A974-000 1 CABLE, ENVIRONMENT SENSOR SW3, J2208, J2209

6 WP2-5473-000 1 SENSOR, HUMIDITY,HSU-08FDB2A UN19, J2209

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 192 REAR FAN ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

192 NPN RF REAR FAN ASSEMBLY

1 FK2-7286-000 1 FAN FM1, J2270

2 FK4-3648-000 1 FAN FM8, J2271

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 193 FAN ASSEMBLY (C5870, C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

193 NPN RF FAN ASSEMBLY
C5870, C5860, C5850 
SERIES

1 FK4-4956-000 1 FAN FM5, J2120

2 FM1-W736-000 1 TONER FILTER ASSEMBLY [DP]

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 194A SIDE END COOLING FAN ASS'Y (C5870, C5860, C5850 
SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

194A FM1-V145-000 1 SIDE END COOLING FAN ASS'Y
M22, J2225
C5870, C5860, C5850 
SERIES

1 FK4-3647-000 4 FAN
FM6, FM7, FM13, 
FM14, J2223, J2224, 
J2226, J2227

2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS39, J2221

3 FL1-3966-000 1 FILTER, AIR [DP]

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 194B SIDE END COOLING FAN ASS'Y (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

194B FM1-V144-000 1 SIDE END COOLING FAN ASS'Y
M22, J2225
C5840 SERIES

1 FK4-3647-000 2 FAN FM6, FM7, J25, J26

2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS39, J27

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 250 MAIN DRIVE ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

250 NPN RF MAIN DRIVE ASSEMBLY

1 FM1-X281-000 1 MAIN DRIVE GEAR BOX ASSEMBLY C5840 SERIES

1 FM2-E047-000 1 MAIN DRIVE GEAR BOX ASSEMBLY
C5870, C5860, C5850 
SERIES

2 FK4-4725-000 3 MOTOR, DC BRUSHLESS
M1, M2, M27, J2100, 
J2213, J2423

3 FM2-U944-000 1 MOTOR, STEPPING, DC M23, J2210

4 FM2-U945-000 4 MOTOR, STEPPING, DC
M3, M4, M5, M6, 
J2090, J2091, J2092, 
J2093

5 FM2-A915-000 4 PRE-EXPOSURE LED PCB ASS'Y

UN12, UN13, UN14, 
UN15, 
J2550, J2552, J2554, 
J2556

6 FM2-K997-000 1 SENSOR UNIT, TEMPERATURE UN56, J2416

7 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS41, J2211

8 FM2-X966-000 1 DRUM DRIVER PCB ASS'Y
UN54
C5870, C5860, C5850 
SERIES

8 FM2-X967-000 1 DRUM DRIVER PCB ASS'Y
UN54
C5840 SERIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 261A PAPER PICK-UP DRIVE ASSEMBLY (C5870 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

261A FM1-U659-000 1 PAPER PICK-UP DRIVE ASSEMBLY C5870 SERIES

1 FE4-5133-000 1 LIMITTER, TORQUE

2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS48, J2294

3 FM1-V376-000 1 MOTOR UNIT M13, J2313

4 FM1-V375-000 1 EXTRACTION DRIVE MOTOR ASS'Y

5 FM1-R502-000 3 MOTOR UNIT
M12, M14, M19, 
J2295, J2314, J2315

6 FM1-T500-000 1 M.P. PICK UP DRIVE MOTOR ASS'Y

7 FM1-T499-000 2 DRIVE MOTOR UNIT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 261B PAPER PICK-UP DRIVE ASSEMBLY (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

261B FM1-R485-000 1 PAPER PICK-UP DRIVE ASSEMBLY C5840 SERIES

1 FE4-5133-000 1 LIMITTER, TORQUE

2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS48, J320

3 FM2-U945-000 3 MOTOR, STEPPING, DC
M12, M13, M19, J321, 
J322, J323

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 261C PAPER PICK-UP DRIVE ASSEMBLY (C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

261C FM1-R486-000 1 PAPER PICK-UP DRIVE ASSEMBLY
C5860, C5850 
SERIES

1 FE4-5133-000 1 LIMITTER, TORQUE

2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS48, J2359

3 FM1-R502-000 4 MOTOR UNIT
M12, M13, M14, M19, 
J2354, J2356, J2357, 
J2384

4 FM1-V374-000 1 EXTRACTION DRIVE MOTOR ASS'Y

5 FM1-T500-000 1 M.P. PICK UP DRIVE MOTOR ASS'Y

6 FM1-T499-000 2 DRIVE MOTOR UNIT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 262A REG. DUPLEXING DRIVE ASSEMBLY (C5870 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

262A FM1-V567-000 1 REG. DUPLEXING DRIVE ASSEMBLY C5870 SERIES

1 FM1-U676-000 2 MOTOR UNIT
M15, M16, J2263, 
J2264

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 262B REG. DUPLEXING DRIVE ASSEMBLY (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

262B FM1-V565-000 1 REG. DUPLEXING DRIVE ASSEMBLY C5840 SERIES

1 FM2-U945-000 2 MOTOR, STEPPING, DC
M15, M16, J2297, 
J2298

2 XA9-2050-000 4 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 262C REG. DUPLEXING DRIVE ASSEMBLY (C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

262C FM1-V566-000 1 REG. DUPLEXING DRIVE ASSEMBLY
C5860, C5850 
SERIES

1 FM1-U676-000 1 MOTOR UNIT M15, J2256

2 FM1-X253-000 1 MOTOR UNIT M16, J2296

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 270A BOTTLE DRIVE ASSEMBLY (C5870, C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

270A NPN RF BOTTLE DRIVE ASSEMBLY
C5870, C5860, C5850 
SERIES

1 FK4-3647-000 1 FAN FM12, J2158

2 FM1-V557-000 4 SUPPLY DRIVE ASSEMBLY

3 FM1-U142-000 4 BOTTLE MOTOR UNIT
M7, M8, M9, M10, 
J2142, J2144, J2146, 
J2751

4 WG8-5935-000 8 IC, PHOTO INTERRUPTER

PS35, PS36, PS37, 
PS38, PS44, PS45, 
PS46, PS47, J2141, 
J2143, J2145, J2147, 
J2151, J2152, J2153, 
J2154

5 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 270B BOTTLE DRIVE ASSEMBLY (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

270B NPN RF BOTTLE DRIVE ASSEMBLY C5840 SERIES

1 FK4-3647-000 1 FAN FM12, J2158

2 FM1-T077-000 4 SUPPLY DRIVE ASSEMBLY

3 FM1-U142-000 4 BOTTLE MOTOR UNIT
M7, M8, M9, M10, 
J2142, J2144, J2647, 
J2648

4 WG8-5935-000 4 IC, PHOTO INTERRUPTER
PS35, PS36, PS37, 
PS38, J2141, J2143, 
J2145, J2647

5 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 280 FIXING DRIVE ASSEMBLY 

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

280 FM1-R504-000 1 FIXING DRIVE ASSEMBLY

1 FK4-4728-000 1 MOTOR, DC M20, J2273

2 WG8-5783-000 1 PHOTOINTERRUPTER, LG248NL1A PS34, J2275

3 XA9-2008-000 3 SCREW,M3X4

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 290 LIFTER DRIVE ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

290 FM1-R500-000 1 LIFTER DRIVE ASS'Y M11, J2034

1 WG8-5783-000 2 PHOTOINTERRUPTER, LG248NL1A
PS4, PS6, J2031, 
J2033

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 310A PAPER PICK-UP ASSEMBLY, 1 (C5870, C5860, C5850 
SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

310A FM1-R492-000 1 PAPER PICK-UP ASSEMBLY, 1
C5870, C5860, C5850 
SERIES

1 WG8-6233-000 3 PHOTO-INTERRUPTER
PS9, PS11, PS13, 
J2021, J2024, J2801

2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT

3 FE4-4426-000 1 ROLLER, EXTRACTION

4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY

5 FL4-0150-000 1 ROLLER, SEPARATION [DP]

6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE

7 FL4-0388-000 1 GEAR, 23T

8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]

9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]

10 FL4-1087-000 1 GEAR, 19T

11 FE4-9853-000 1 LIMITTER, TORQUE

12 FL0-2465-000 1 SHEET, ROLLER GUIDE 1

13 FL0-3585-000 1 SHEET, ROLLER GUIDE 2

14 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A
PS1, PS7, J2022, 
J2023

15 XA9-2050-000 10 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 310B PAPER PICK-UP ASSEMBLY, 1 (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

310B FM1-R491-000 1 PAPER PICK-UP ASSEMBLY, 1 C5840 SERIES

1 WG8-6233-000 2 PHOTO-INTERRUPTER
PS11, PS13, J2021, 
J2801

2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT

3 FE4-4426-000 1 ROLLER, EXTRACTION

4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY

5 FL4-0150-000 1 ROLLER, SEPARATION [DP]

6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE

7 FL4-0388-000 1 GEAR, 23T

8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]

9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]

10 FL4-1087-000 1 GEAR, 19T

11 FE4-9853-000 1 LIMITTER, TORQUE

12 FL0-2465-000 1 SHEET, ROLLER GUIDE 1

13 FL0-3585-000 1 SHEET, ROLLER GUIDE 2

14 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A
PS1, PS7, J2022, 
J2023

15 XA9-2050-000 10 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 311A PAPER PICK-UP ASSEMBLY, 2 (C5870, C5860, C5850 
SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

311A FM1-R495-000 1 PAPER PICK-UP ASSEMBLY, 2
C5870, C5860, C5850 
SERIES

1 WG8-6233-000 2 PHOTO-INTERRUPTER
PS10, PS12, J2026, 
J2029

2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT

3 FE4-4426-000 1 ROLLER, EXTRACTION

4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY

5 FL4-0150-000 1 ROLLER, SEPARATION [DP]

6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE

7 FL4-0388-000 1 GEAR, 23T

8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]

9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]

10 FE4-9853-000 1 LIMITTER, TORQUE

11 FL0-2465-000 1 SHEET, ROLLER GUIDE 1

12 FL0-3585-000 1 SHEET, ROLLER GUIDE 2

13 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A
PS2, PS8, J2027, 
J2028

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 311B PAPER PICK-UP ASSEMBLY, 2 (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

311B FM1-R494-000 1 PAPER PICK-UP ASSEMBLY, 2 C5840 SERIES

1 WG8-6233-000 1 PHOTO-INTERRUPTER PS12, J19

2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT

3 FE4-4426-000 1 ROLLER, EXTRACTION

4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY

5 FL4-0150-000 1 ROLLER, SEPARATION [DP]

6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE

7 FL4-0388-000 1 GEAR, 23T

8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]

9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]

10 FE4-9853-000 1 LIMITTER, TORQUE

11 FL0-2465-000 1 SHEET, ROLLER GUIDE 1

12 FL0-3585-000 1 SHEET, ROLLER GUIDE 2

13 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A PS2, PS8, J10, J14

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 313 VERTICAL PATH LOWER GUIDE ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

313 NPN RF VERTICAL PATH LOWER GUIDE ASS'Y

1 FL1-3979-000 1 ROLLER, DELIVERY ENT. DRIVE

2 FU2-2397-000 1 GEAR, 21T

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 315 MULTI PAPER PICK-UP TRAY ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

315 FM1-R497-000 1 MULTI PAPER PICK-UP TRAY ASS'Y

1 WG8-5935-000 2 IC, PHOTO INTERRUPTER
PS29, PS30, J2326, 
J2329

2 FM1-C998-000 1 PAPER WIDTH SENSING PCB ASS'Y UN20, J2328

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 316 MULTI PAPER PICK-UP ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

316 FM1-R484-000 1 MULTI PAPER PICK-UP ASSEMBLY

1 FE4-5020-000 1 ROLLER, MULTI EXTRACTION

2 FE4-5133-000 1 LIMITTER, TORQUE

3 FL1-3794-000 1 GEAR, 19T

4 FL0-2465-000 1 SHEET, ROLLER GUIDE 1

5 FL0-3585-000 1 SHEET, ROLLER GUIDE 2

6 FL4-0762-000 2 ROLLER, PAPER PICK-UP [DP]

7 FL1-3762-010 1 ROLLER, SEPARATION [DP]

8 FL4-0370-000 1 GEAR, 34T/17T

9 FL4-0404-000 1 GEAR, 23T

10 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A
PS32, PS33, J2321, 
J2322

11 WG8-5935-000 3 IC, PHOTO INTERRUPTER
PS25, PS28, PS31, 
J2324, J2325, J2902

12 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

13 XD9-0333-000 2 PIN, PARALLEL

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 320 SECONDARY TRANSFER ASS'Y 

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

320 FM1-T031-000 1 SECONDARY TRANSFER ASS'Y SEE NOTE

1 FM2-D557-000 1 2ND TRNSFR. OUTER ROLLER SET [DP]

2 FM1-T033-000 2 2ND TRNSFR. BUSHING ASS'Y

3 FE2-B561-000 18 ROLLER

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 321A REGISTRATION ASSEMBLY (C5870, C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

321A FM1-T088-000 1 REGISTRATION ASSEMBLY
C5870, C5860, C5850 
SERIES

1 FE8-8486-000 1 FLAG, SENSOR

2 FU2-0088-000 1 SPRING, TORSION

3 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS14, J2280

4 WG8-6233-000 1 PHOTO-INTERRUPTER PS15, J2286

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 321B REGISTRATION ASSEMBLY (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

321B FM1-T087-000 1 REGISTRATION ASSEMBLY C5840 SERIES

1 FE8-8486-000 1 FLAG, SENSOR

2 FU2-0088-000 1 SPRING, TORSION

3 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS14, J2280

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 332 DUPLEXING GUIDE ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

332 NPN RF DUPLEXING GUIDE ASSEMBLY

1 WG8-5935-000 2 PHOTOINTERRUPTER, RPI-2500
PS27, PS43, J2812, 
J2901

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 350 PAPER DELIVERY ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

350 FM1-T681-000 1 PAPER DELIVERY ASSEMBLY

1 FM2-U945-000 2 MOTOR, STEPPING, DC
M17, M18, J2250, 
J2264

2 WG8-5935-000 2 IC, PHOTO INTERRUPTER
PS21, PS23, J2254, 
J2262

3 FM1-T125-000 1 SOLENOID ASSEMBLY SL2, J2263

4 FM1-U133-000 1 PAPER DELIVERY FLAPPER ASS'Y

5 FU2-2397-000 2 GEAR, 21T

6 XA9-2050-000 4 SCREW, SELF-TAPPING, M3

7 XA9-2008-000 1 SCREW,M3X4

8 XG9-0783-000 1 BEARING, BALL, L-1060ZZ

9 XG9-0797-000 1 BEARING, BALL, LF-1260ZZRPOP25

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 351 FIRST PAPER DELIVERY ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

351 NPN RF FIRST PAPER DELIVERY ASSEMBLY

1 WG8-5935-000 1 PHOTOINTERRUPTER, RPI-2500 PS20, J2260

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 352 SECOND PAPER DELIVERY ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

352 NPN RF SECOND PAPER DELIVERY ASSEMBLY

1 WG8-5935-000 1 PHOTOINTERRUPTER, RPI-2500 PS22, J2253

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 460A LASER SCANNER ASSEMBLY (C5870 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

460A FM1-R536-000 1 LASER SCANNER ASSEMBLY

M26, TH8, UN9, 
UN10, J700, J702, 
J703, J720
C5870 SERIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 460B LASER SCANNER ASSEMBLY (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

460B FM1-R530-000 1 LASER SCANNER ASSEMBLY

M24, TH8, UN9, 
UN10, J700, J702, 
J703, J720
C5840 SERIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 460C LASER SCANNER ASSEMBLY (C5860, C5850 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

460C FM1-R538-000 1 LASER SCANNER ASSEMBLY

M24, TH8, UN9, 
UN10, J700, J702, 
J703, J720
C5860, C5850 
SERIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 530 INTER. TRANSFER BELT ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

530 NPN RF INTER. TRANSFER BELT ASSEMBLY

1 FE8-7290-000 1 HOLDER, CLEANER GEAR

2 FE8-7296-000 1 PLATE, CLEANER LINK

3 XG9-0793-000 2 BEARING, BALL, L-1680KKRP0P25L

4 FM1-R400-000 1 INTER. TRANSFER BELT ASS'Y [DP]

5 FL1-3540-000 1 BELT, INTERMEDIATE TRANSFER

6 FE8-6888-000 1 ROLLER, 2ND TRANSFER, INNER

7 FM1-R475-000 1 TRANSFER CLEANER ASS'Y
UN74, UN75
[DP]

8 FU2-2360-000 1 GEAR, 17T

9 XD9-0335-000 1 PIN, PARALLEL

10 XD9-0396-000 2 RETAINING RING (E-TYPE)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 627 BOTTLE BASE ASSEMBLY, BLACK

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

627 NPN RF BOTTLE BASE ASSEMBLY, BLACK

1 FM1-T093-000 1 TONER BOTTLE MOUNT(BK) UNIT

2 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 628 BOTTLE BASE ASSEMBLY, COLOR

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

628 NPN RF BOTTLE BASE ASSEMBLY, COLOR

1 FM1-T075-000 3 BOTTLE BASE ASSEMBLY, COLOR

2 XA9-2050-000 6 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 640 DEVELOPING ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

640 NPN RF DEVELOPING ASSEMBLY

1 FM1-R553-000 1 DEVELOPING ASSEMBLY, Y
UN63, TS1, UN21
[DP]

2 FM1-R552-000 1 DEVELOPING ASSEMBLY, M
UN64, TS2, UN22
[DP]

3 FM1-R551-000 1 DEVELOPING ASSEMBLY,C
UN65, TS3, UN23
[DP]

4 FM1-R550-000 1 DEVELOPING ASSEMBLY, BK
UN66, TS4, UN24
[DP]

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 650B TRAY DRUM ASSEMBLY
NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 4. NOTE 2 : Several kinds of labels are attached on the 

board for the parts of Key No. 5. NOTE 3 : The part shown with key No. 5 is same as Fig-Key No. 100-22 and 102-10.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

650B NPN RF TRAY DRUM ASSEMBLY

1 FM1-R570-010 4 DRUM TRAY UNIT

2 FM2-M958-000 4 RECTIFIER PCB ASSEMBLY
UN59, UN60, UN61, 
UN62

3 FL1-3930-000 4 SHUTTER

4 FE2-F415-000 1 LABEL, DRUM NUMBER SEE NOTE 1

5 FE8-8675-000 1 LABEL, TONER
SEE NOTE 2
SEE NOTE 3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 770 CONTAINER, WASTE TONER, WT-202

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

770 FM1-A606-050 1 CONTAINER, WASTE TONER, WT-202 [DP]

1 FL0-7007-000 1 WINDOW, WASTE TONER CASE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 771 WASTE TONER DRIVE ASS'Y, FRONT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

771 NPN RF WASTE TONER DRIVE ASS'Y, FRONT

1 FM1-R562-000 1 WASTE TONER DRIVE ASS'Y, FRONT

2 FE2-R776-000 1 SHAFT, TRANSMISSION

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 772 WASTE TONER DRIVE ASS'Y, REAR

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

772 FM1-R560-000 1 WASTE TONER DRIVE ASS'Y, REAR
M21, UN37, J2121, 
J2122

1 WC2-5806-000 1 SWITCH, PUSH SW10, J2123

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 773 WASTE TONER FEED ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

773 FM1-R563-000 1 WASTE TONER FEED ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 774 INTERDEDIATE FEED DRIVE ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

774 FM1-R564-000 1 INTERDEDIATE FEED DRIVE ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 775 INTERDEDIATE FEED ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

775 FM1-R565-000 1 INTERDEDIATE FEED ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 810C FIXING ASSEMBLY, FX-207 (120V C5870, C5860, C5850 
SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

810C FM1-R518-000 1 FIXING ASSEMBLY, FX-207
120V 
C5870, C5860, C5850 
SERIES [DP]

1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM

2 FE8-7461-000 1 ROLLER, PRESSURE

3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231

4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT

5 FM1-R511-000 1 ENTRANCE GUIDE UNIT

6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT

7 FM2-C647-000 1 FIXING FILM ASSEMBLY

H1, TH1, TH2, TH3, 
TH4, TH5, TH6, TP1, 
UN38, J2231, J2232, 
J2233, J5012, J5016

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 810D FIXING ASSEMBLY, FX-205 (120V C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

810D FM1-R517-000 1 FIXING ASSEMBLY, FX-205
120V 
C5840 SERIES [DP]

1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM

2 FE8-7461-000 1 ROLLER, PRESSURE

3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231

4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT

5 FM1-R511-000 1 ENTRANCE GUIDE UNIT

6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT

7 FM2-C213-000 1 FIXING FILM ASSEMBLY

H1, TH1, TH2, TH3, 
TH4, TH5, TH6, TP1, 
UN38, J2231, J2232, 
J2233, J5007, J5012

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 810E FIXING ASSEMBLY, FX-207 (230V C5870,60,50 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

810E FM1-R520-000 1 FIXING ASSEMBLY, FX-207
230V 
C5870, C5860, C5850 
SERIES[DP]

1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM

2 FE8-7461-000 1 ROLLER, PRESSURE

3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231

4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT

5 FM1-R511-000 1 ENTRANCE GUIDE UNIT

6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT

7 FM2-C648-000 1 FIXING FILM ASSEMBLY

H1, TH1, TH2, TH3, 
TH4, TH5, TH6, TP1, 
UN38, J2231, J2232, 
J2233, J5012, J5016

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 810F FIXING ASSEMBLY, FX-205 (C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

810F FM1-R519-000 1 FIXING ASSEMBLY, FX-205
230V 
C5840 SERIES [DP]

1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM

2 FE8-7461-000 1 ROLLER, PRESSURE

3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231

4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT

5 FM1-R511-000 1 ENTRANCE GUIDE UNIT

6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT

7 FM2-C214-000 1 FIXING FILM ASSEMBLY

H1, TH1, TH2, TH3, 
TH4, TH5, TH6, TP1, 
UN38, J2231, J2232, 
J2233, J5007, J5012

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 900 CONTROLLER BOX ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

900 NPN RF CONTROLLER BOX ASSEMBLY

1 FE3-9178-000 1 CAP

2 FK4-5700-000 1 CABLE, FLAT J1

3 FK4-6208-000 1 CABLE, SSD J16, J17

4 FM1-W520-000 1 SSD UNIT

5 QM7-4472-000 1 WIRELESS LAN BOARD ASS'Y

501 XZ1-1301-005 4 SPACER

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 910C POWER SUPPLY ASSEMBLY (120V C5870, C5860, C5850 
SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

910C FM1-U685-000 1 POWER SUPPLY ASSEMBLY

UN3
120V 
C5870, C5860, C5850 
SERIES

1 FK2-7286-000 1 FAN FM3, J8120

2 FM1-T160-000 1 AC DRIVER PCB ASSEMBLY UN2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 910D POWER SUPPLY ASSEMBLY (120V C5840 SERIES)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

910D FM1-U684-000 1 POWER SUPPLY ASSEMBLY
UN3
120V 
C5840 SERIES

1 FK2-7286-000 1 FAN FM3, J8120

2 FM1-T159-000 1 AC DRIVER PCB ASSEMBLY UN2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 910E POWER SUPPLY ASSEMBLY (230V)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

910E FM1-U686-000 1 POWER SUPPLY ASSEMBLY
UN3
230V

1 FK2-7286-000 1 FAN FM3, J8120

2 FM1-U681-000 1 AC DRIVER PCB ASSEMBLY UN2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 930B MAIN CONTROLLER PCB ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

930B NPN RF MAIN CONTROLLER PCB ASSEMBLY

1 FM2-L834-000 1 MAIN CONTROLLER PCB ASSEMBLY
UN41
230V C5870 SERIES

1 FM2-L841-000 1 MAIN CONTROLLER PCB ASSEMBLY
UN41
120V C5870 SERIES

1 FM2-L842-000 1 MAIN CONTROLLER PCB ASSEMBLY
UN41
C5860 SERIES

1 FM2-L843-000 1 MAIN CONTROLLER PCB ASSEMBLY
UN41
C5850 SERIES

1 FM2-L844-000 1 MAIN CONTROLLER PCB ASSEMBLY
UN41
C5840 SERIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 962 PAPER FEED DRIVER PCB ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

962 NPN RF PAPER FEED DRIVER PCB ASSEMBLY

1 FM2-X968-000 1 PAPER FEED DRIVER PCB ASSEMBLY
UN1
C5870, C5860, C5850 
SERIES

1 FM2-X969-000 1 PAPER FEED DRIVER PCB ASSEMBLY
UN1
C5840 SERIES

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 980 H.V. POWER SUPPLY/ DUCT ASS'Y

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

980 FM1-U192-000 1 H.V. POWER SUPPLY/ DUCT ASS'Y

1 FM2-K997-000 1 SENSOR UNIT, TEMPERATURE UN11, J2285

2 FM1-T152-000 1 HIGH VOLTAGE POWER SUPPLY UNIT UN57, UN58

3 FM1-T155-000 1 2ND TRANSFER GUIDE ASS'Y

4 FM1-T176-000 1 2ND TRANSFER DUCT GUIDE ASS'Y

5 FK2-0472-010 1 FAN FM15, J2284

6 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure 981 TRANSFER H.V. PCB ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

981 FM1-T156-000 1 TRANSFER H.V. PCB ASSEMBLY UN7

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B02 ADF MAINTENANCE KIT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B02 NPN RF ADF MAINTENANCE KIT

1 FM2-A273-000 1 ADF MAINTENANCE KIT, DR-205

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B11B INTERNAL COMPONENTS 1

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B11B NPN RF INTERNAL COMPONENTS 1

1 FM1-U274-000 1 FRONT COVER ASSEMBLY

2 WG8-5935-000 3 IC, PHOTO INTERRUPTER
PS407, PS410, 
PS414, J4063, J4071, 
J4131

3 XA9-2014-000 2 SCREW, MACH. TRUSS HEAD, M4X6

4 FE2-A749-000 2 COVER, HINGE 2

5 FE8-9253-000 1 STOPPER, OPEN/CLOSE

6 FE8-9880-000 1 HINGE, LEFT

7 FM2-A275-000 1 FLAT CABLE UNIT J103, J201

8 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

9 FE8-9257-000 1 FLAG, OPEN/CLOSE SENSOR

10 XD9-0359-000 1 PIN, PARALLEL

11 FE2-C909-000 1 LABEL, CAUTION

12 FE2-C419-000 1 LABEL, PROHIBITION DOCUMENT

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B12B INTERNAL COMPONENTS 2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B12B NPN RF INTERNAL COMPONENTS 2

1 FM1-U405-000 1 LIFTER DRIVE ASSEMBLY

2 FK4-3336-000 1 MOTOR, STEPPING, DC M406, J4051

3 FM1-U404-000 1 MOTOR ASS'Y M403, J4041

4 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

5 XA9-1833-000 2 SCREW, D, M3X6

6 FE3-5529-010 1 PANEL, COPYBOARD

7 WG8-6233-000 1 PHOTO-INTERRUPTER PS404, J4074

8 FE8-5725-010 9 TAPE

9 FE8-9900-000 1 COVER, RIGHT

10 FM1-U342-000 1 PLATEN ROLLER ASS'Y

11 FK4-3333-000 1 CABLE, FLAT J104, J401

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B13 INTERNAL COMPONENTS 3

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B13 NPN RF INTERNAL COMPONENTS 3

1 XD9-0328-000 2 PIN, PARALLEL

2 XG9-0497-000 4 BEARING, BALL, MR106ZZ,

3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

4 XA9-2014-000 1 SCREW, MACH. TRUSS HEAD, M4X6

5 FL1-5310-000 1 PULLEY, 34T

6 FL1-5503-000 1 GLASS, READER

7 FM1-T962-000 2 MOTOR ASS'Y
M401, M404, J4031, 
J4032

8 FM1-U403-000 1 PAPER PICK-UP MOTOR ASS'Y

9 FK4-3336-000 1 MOTOR, STEPPING, DC M405, J4052

10 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS408, J4064

11 FM1-W515-000 1 MOTOR ASS'Y M402, J4042

12 FE8-5099-000 1 SPRING, SLIDE, GROUNDING

13 FE2-A726-010 1 HOUSING, CLUTCH

14 FL1-4620-000 1 ROLLER, EXTRACTION, 1

15 FL1-4621-000 1 ROLLER, EXTRACTION, 2

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B14 INTERNAL COMPONENTS 4 

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B14 NPN RF INTERNAL COMPONENTS 4 

1 WG8-6233-000 7 PHOTO-INTERRUPTER

PS401, PS402, 
PS403, PS417, 
PS418, PS419, 
PS420 J4061, J4062, 
J4065, J4066, J4082, 
J4083, J4085

2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

3 FM2-A693-000 1 SCANNER UNIT

4 FM1-T423-000 1 SEPARATION ROLLER UNIT [DP]

5 FM1-T424-000 1 LOWER EXTRACTION GUIDE ASS'Y

6 FL1-4610-000 1 PAD, SEPARATION

7 FL4-0117-000 1 GUIDE, SEPARATION

8 FM1-K086-010 1 DOUBLE FEED DETECTION KIT UN402, UN403

9 FM1-T790-000 1 CHART, 2-SIDED DIFFER. ADJUST

10 FE8-9278-000 1 HOLDER, SEPARATION

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B15 DOCUMENT TRAY ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B15 FM1-T421-000 1 DOCUMENT TRAY ASSEMBLY

LED402, VR401, 
PS409, PS411, 
PS412, PS413, 
PS415

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B16 OPEN/CLOSE COVER ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B16 FM1-T420-010 1 OPEN/CLOSE COVER ASSEMBLY LED401, PS406

1 FM1-T417-000 1 PAPER PICK-UP ROLLER ASSEMBLY [DP]

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B17 BASE FRAME ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B17 NPN RF BASE FRAME ASSEMBLY

1 FE8-9881-000 1 HINGE, RIGHT

2 FE2-A477-010 1 TRAY, PAPER DELIVERY EXTENSION

3 FE8-9893-000 1 FLAG, PAPER DELIVERY SENSOR

4 FM1-U273-010 1 WHITE PLATE SUPPORT ASSEMBLY

5 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS416, J4073

6 XA9-2014-000 1 SCREW, MACH. TRUSS HEAD, M4X6

7 FL1-2754-010 9 CUSHION

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B40 PLATEN GUIDE ASS'Y 

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B40 NPN RF PLATEN GUIDE ASS'Y

1 FM1-U343-000 1 PLATEN GUIDE ASS'Y PS405

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure B90 DF DRIVER PCB ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

B90 FM1-T957-000 1 DF DRIVER PCB ASSEMBLY UN401

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure D11B READER ASSEMBLY

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

D11B NPN RF READER ASSEMBLY

1 FE2-A109-000 1 COVER, READER, RIGHT

2 FE2-A108-000 1 POCKET, READER COVER, LEFT

3 FM1-U011-000 1 MOTION SENSOR UNIT UN76

4 XA9-0893-000 1 SCREW, M4X8

5 FL1-5098-000 1 LABEL, SERVICE, PRINT

6 FE2-A105-000 1 COVER, READER, FRONT

7 FE8-5747-000 1 COVER, GLASS RETAINING

8 FE8-9943-000 1 SHEET, FFC CLAMP

9 FK4-3318-000 1 CABLE, FLAT J54, J541

10 FL1-5546-000 1 GLASS, COPYBOARD

11 FL1-5083-000 1 GLASS, READER

12 FE8-5215-000 1 FLAG, OPEN/CLOSE SENSOR

13 FM1-T727-000 1 MOTOR ASS'Y M101, J1091

14 FK4-4384-000 1 IC, PHOTO SENSOR,DOCUMENT SIZE PS104, J1011

15 WG8-5935-000 3 IC, PHOTO INTERRUPTER
PS101, PS102, 
PS103, J6011

16 XA9-1116-030 2 SCREW,M3X5

17 XD9-0395-000 3 RETAINING RING (E-TYPE)

18 XA9-2017-000 10 SCREW, PANHEAD MACHINE M4X6

19 XA9-2050-000 12 SCREW, SELF-TAPPING, M3

20 FE3-9178-000 1 CAP

21 FM2-A692-020 1 SCANNER UNIT UN102, UN103

22 FM1-T790-000 1 CHART, 2-SIDED DIFFER. ADJUST

23 FE2-A147-000 1 LABEL, CLEANING POSITION

24 FL4-1300-000 1 FRAME, JUMP GUIDE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure H30B CASSETTE ASSEMBLY (SMALL)
NOTE : This assembly does not include the parts shown inside the frame.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

H30B FM1-R487-000 1 CASSETTE ASSEMBLY
SMALL 
SEE NOTE

1 FE2-B537-000 6 ROLLER, CASSETTE

2 FE3-1613-010 1 LINK, SIZE DETECT

3 RC1-9396-000 1 GEAR, 14T

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure H31B CASSETTE ASSEMBLY (LARGE)
NOTE : This assembly does not include the parts shown inside the frame. Several kinds of labels are attached on the board for the parts of 

Key No. 5.

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



FIGURE
& KEY

NO.
PART NUMBER

R
A
N
K

QTY DESCRIPTION
SERIAL NUMBER

/REMARKS

H31B FM1-R489-000 1 CASSETTE ASSEMBLY
LARGE 
SEE NOTE

1 FE3-1525-020 1 LINK, SIZE DETECT

2 FE2-B537-000 4 ROLLER, CASSETTE

3 FE3-1526-000 1 ARM, BACK END DETECT

4 RC1-9396-000 1 GEAR, 14T

5 FE8-4838-000 1 LABEL, CASSETTE SEE NOTE

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZA MECHANICAL STANDARD PARTS (HOW TO USE)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (1/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (2/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (3/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (4/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (5/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (6/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZB (7/7)MECHANICAL STANDARD PARTS (SCREWS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZC MECHANICAL STANDARD PARTS (BOLTS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZD MECHANICAL STANDARD PARTS (NUTS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZE (1/3)MECHANICAL STANDARD PARTS (RETAINING RINGS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZE (2/3)MECHANICAL STANDARD PARTS (RETAINING RINGS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)



Figure ZZE (3/3)MECHANICAL STANDARD PARTS (RETAINING RINGS)

2021-11-02

imageRUNNER ADVANCE DX C5800 Series(CUSA)


	Cover
	Index
	Figure PRE PREFACE
	Figure SNL Product Code No./Serial No.
	Figure A1C ASSEMBLY LOCATION DIAGRAM
	Figure A2 OPTION PARTS CATALOG LIST
	Figure 001B ACCESSORIES
	Figure 100B EXTERNAL COVERS, PANELS, ETC. (230V)
	Figure 100C EXTERNAL COVERS, PANELS, ETC. (120V)
	Figure 101 INTERNAL COMPONENTS 1
	Figure 102C INTERNAL COMPONENTS 2 (C5870, C5860, C5850 SERIES)
	Figure 102D INTERNAL COMPONENTS 2 (C5840 SERIES)
	Figure 103 INTERNAL COMPONENTS 3
	Figure 104 INTERNAL COMPONENTS 4
	Figure 105 INTERNAL COMPONENTS 5
	Figure 106 INTERNAL COMPONENTS 6
	Figure 107A MACHINE REAR PLATE 1 (C5870, C5860, C5850 SERIES)
	Figure 107B MACHINE REAR PLATE 1 (C5840 SERIES)
	Figure 108 MACHINE REAR PLATE 2
	Figure 111 RIGHT DOOR ASSEMBLY 1
	Figure 112 RIGHT DOOR PAPER FEED ASSEMBLY
	Figure 113 RIGHT DOOR ASSEMBLY 2
	Figure 114 RIGHT DOOR ASSEMBLY, LOWER
	Figure 130 CONTROL PANEL ASSEMBLY
	Figure 140B POWER CORD TERMINAL ASSEMBLY (120V US, CA, LTN)
	Figure 140C POWER CORD TERMINAL ASSEMBLY (230V LTN, EUR, AU, SG, KR)
	Figure 191 FRONT FAN ASSEMBLY
	Figure 192 REAR FAN ASSEMBLY
	Figure 193 FAN ASSEMBLY (C5870, C5860, C5850 SERIES)
	Figure 194A SIDE END COOLING FAN ASS'Y (C5870, C5860, C5850 SERIES)
	Figure 194B SIDE END COOLING FAN ASS'Y (C5840 SERIES)
	Figure 250 MAIN DRIVE ASSEMBLY
	Figure 261A PAPER PICK-UP DRIVE ASSEMBLY (C5870 SERIES)
	Figure 261B PAPER PICK-UP DRIVE ASSEMBLY (C5840 SERIES)
	Figure 261C PAPER PICK-UP DRIVE ASSEMBLY (C5860, C5850 SERIES)
	Figure 262A REG. DUPLEXING DRIVE ASSEMBLY (C5870 SERIES)
	Figure 262B REG. DUPLEXING DRIVE ASSEMBLY (C5840 SERIES)
	Figure 262C REG. DUPLEXING DRIVE ASSEMBLY (C5860, C5850 SERIES)
	Figure 270A BOTTLE DRIVE ASSEMBLY (C5870, C5860, C5850 SERIES)
	Figure 270B BOTTLE DRIVE ASSEMBLY (C5840 SERIES)
	Figure 280 FIXING DRIVE ASSEMBLY
	Figure 290 LIFTER DRIVE ASS'Y
	Figure 310A PAPER PICK-UP ASSEMBLY, 1 (C5870, C5860, C5850 SERIES)
	Figure 310B PAPER PICK-UP ASSEMBLY, 1 (C5840 SERIES)
	Figure 311A PAPER PICK-UP ASSEMBLY, 2 (C5870, C5860, C5850 SERIES)
	Figure 311B PAPER PICK-UP ASSEMBLY, 2 (C5840 SERIES)
	Figure 313 VERTICAL PATH LOWER GUIDE ASS'Y
	Figure 315 MULTI PAPER PICK-UP TRAY ASS'Y
	Figure 316 MULTI PAPER PICK-UP ASSEMBLY
	Figure 320 SECONDARY TRANSFER ASS'Y
	Figure 321A REGISTRATION ASSEMBLY (C5870, C5860, C5850 SERIES)
	Figure 321B REGISTRATION ASSEMBLY (C5840 SERIES)
	Figure 332 DUPLEXING GUIDE ASSEMBLY
	Figure 350 PAPER DELIVERY ASSEMBLY
	Figure 351 FIRST PAPER DELIVERY ASSEMBLY
	Figure 352 SECOND PAPER DELIVERY ASSEMBLY
	Figure 460A LASER SCANNER ASSEMBLY (C5870 SERIES)
	Figure 460B LASER SCANNER ASSEMBLY (C5840 SERIES)
	Figure 460C LASER SCANNER ASSEMBLY (C5860, C5850 SERIES)
	Figure 530 INTER. TRANSFER BELT ASSEMBLY
	Figure 627 BOTTLE BASE ASSEMBLY, BLACK
	Figure 628 BOTTLE BASE ASSEMBLY, COLOR
	Figure 640 DEVELOPING ASSEMBLY
	Figure 650B TRAY DRUM ASSEMBLY
	Figure 770 CONTAINER, WASTE TONER, WT-202
	Figure 771 WASTE TONER DRIVE ASS'Y, FRONT
	Figure 772 WASTE TONER DRIVE ASS'Y, REAR
	Figure 773 WASTE TONER FEED ASSEMBLY
	Figure 774 INTERDEDIATE FEED DRIVE ASS'Y
	Figure 775 INTERDEDIATE FEED ASS'Y
	Figure 810C FIXING ASSEMBLY, FX-207 (120V C5870, C5860, C5850 SERIES)
	Figure 810D FIXING ASSEMBLY, FX-205 (120V C5840 SERIES)
	Figure 810E FIXING ASSEMBLY, FX-207 (230V C5870,60,50 SERIES)
	Figure 810F FIXING ASSEMBLY, FX-205 (C5840 SERIES)
	Figure 900 CONTROLLER BOX ASSEMBLY
	Figure 910C POWER SUPPLY ASSEMBLY (120V C5870, C5860, C5850 SERIES)
	Figure 910D POWER SUPPLY ASSEMBLY (120V C5840 SERIES)
	Figure 910E POWER SUPPLY ASSEMBLY (230V)
	Figure 930B MAIN CONTROLLER PCB ASSEMBLY
	Figure 962 PAPER FEED DRIVER PCB ASSEMBLY
	Figure 980 H.V. POWER SUPPLY/ DUCT ASS'Y
	Figure 981 TRANSFER H.V. PCB ASSEMBLY
	Figure B02 ADF MAINTENANCE KIT
	Figure B11B INTERNAL COMPONENTS 1
	Figure B12B INTERNAL COMPONENTS 2
	Figure B13 INTERNAL COMPONENTS 3
	Figure B14 INTERNAL COMPONENTS 4
	Figure B15 DOCUMENT TRAY ASSEMBLY
	Figure B16 OPEN/CLOSE COVER ASSEMBLY
	Figure B17 BASE FRAME ASSEMBLY
	Figure B40 PLATEN GUIDE ASS'Y
	Figure B90 DF DRIVER PCB ASSEMBLY
	Figure D11B READER ASSEMBLY
	Figure H30B CASSETTE ASSEMBLY (SMALL)
	Figure H31B CASSETTE ASSEMBLY (LARGE)
	Figure ZZA MECHANICAL STANDARD PARTS (HOW TO USE)
	Figure ZZB MECHANICAL STANDARD PARTS (SCREWS)
	Figure ZZC MECHANICAL STANDARD PARTS (BOLTS)
	Figure ZZD MECHANICAL STANDARD PARTS (NUTS)
	Figure ZZE MECHANICAL STANDARD PARTS (RETAINING RINGS)



